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Antworten

1. 7.18

2. 9.1

3. 7.4

4. 6.7

5. 8.9

6. 6.3

7. 9.7

8. 8.07

9. 3.79

10. 6.7

11. 6.8

12. 2.3

13. 9.06

14. 2.1

15. 2.5

Finden Sie den Wert von X für jede Figur. Jede Zahl ist in Zentimetern (cm) angegeben.
Nicht maßstabsgetreu.

1) area = 58,7324 cm2

8.18

X

2) area = 51,961 cm2

5.71

X

3) area = 48,47 cm2

6.55

X

4) area = 38,19 cm2

5.7

X

5) area = 58,829 cm2

6.61

X

6) area = 53,55 cm2

8.5

X

7) area = 33,95 cm2

3.5

X

8) area = 41,157 cm2

5.1

X

9) area = 23,877 cm2

X

6.3

10) area = 19,564 cm2

2.92

X

11) area = 52,904 cm2

7.78

X

12) area = 16,79 cm2

7.3

X

13) area = 69,762 cm2

7.7

X

14) area = 9,03 cm2

4.3

X

15) area = 9,725 cm2

3.89

X
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